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January 2018

Please complete this work in a notebook that you will turn in weekly for a grade. (Due 01/26/18)
(Please define the key terms and answer rewrite the questions and answer in a complete paragraph)

Chapter 17: Revolutions of Industrialization

KEY TERMS:

Steam engine:

socialism in the United States:

dependent development:

Indian cotton textiles:

Progressives:

Middle-class values:

Russian Revolution of 1905:

Lower middle class:

Caudillos:

Ellen Johnston:

Latin American export boom:

Karl Marx

Mexican Revolution:

BIG PICTURE QUESTIONS: (rewrite the a:mwa.o:m and answer in.a complete paragraph)
1. In what respects did the roots of the Industrial Revolution lie within Europe? In what ways did that transformation

have global roots?

2. What was distinctive about Britain that may help to explain its status as the breakthrough point of the industrial

Revolution?

ik W

How did the Industrial Revolution transform British society?
How did Britain’s middle class change during the nineteenth century?
How did Karl Marx understand the Industrial Revolution? In what ways did his ideas have an impact in the

Industrializing world of the nineteenth century?

NS

century?

What were the differences between industrialization in the United States and that in Russia? '
Why did Marxist socialism not take root in the United States?

What factors contributed to the making of a wm<o~§8:8u\ situation in Russia by the beginning of the twentieth

9. In what ways and with what impact was Latin America linked to the global economy of the nineteenth century?
10.Did Latin America follow or diverge from the historical path of Europe during the nineteenth century?
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